624337

—14

(1)

@@ —(10)
16

C))

15

Seite 1 von 2



624337

Pos | Teilenumme |Benennung M | Hinweis MaRnorm Notiz Preis Wahru |Erzect Il. |Erzectl.
r e ngskur
n ze
g
e
1 625123 Wendelmesser; Set 3 St. 1 | CT-CSP HW 50x12x1.5 (Zubeh.) 840113
2 791468 Anpressleiste 3 |CSP132E
3 625125 Vorschneider ; Set 6 St. 1 [CT-CSP HW 14x14x2 (Zubeh.) 840114
4 414042 Senkschraube 6 |[M5x8 DIN 963
5 624469 Hobelkopf 1 |250x50x30 HM
6 791452 Schraube 6 | M8x25 DIN 923
7 700450 Flansch 1 [CSP132E DIN 668
8 616015 Schraube 1 [M12x70 DIN 931 ISO 4014
9 761523 Federscheibe 6 |A6 DIN 137
10 |618073 Schraube 4 | M6x16 ISO 1207/DIN 84A
11 | 771357 Sicherungsring 6 |SW6
12 1615373 Schraube 2 [ M6éx25 ISO 1207
13 | 624467 Deckel 1 [CSP132E
14 1624472 Deckel Vollsténdig 1 |CSP132E
15 |624468 Deckel 1 |CSP132E
16 624473 Deckel Vollstéandig 1 |CSP132E
17 |616047 Schliissel 1 (4 CSN 23 0710.9
18 714488 Stange 1 |CSP132E
19 772130 Schraubendreher 1 |6.5x150

Seite 2 von 2




